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s tyres and tubes. it siocks sufficient quanticy of tyres of almosi every

t of sales manager revealed that M/s MRF Tyres experienced stock-out
13
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Aditya Ltd. produces a product ‘Exe’ using a raw material Dee. To produce one unit of Exe, 2 kg of
Dec s required. As per the sales forecast conducted by the company, it will able to sale 10,000 units
of Exe in the coming year, The following is the information regarding the raw material Dee:

kg, less than the Economic Order Quantity (EQQ).

tion per day is 20 kg. more than the average consumption per day.

rice is Rs.125 per kg.

soing 3i0ck 04 900 units of the finished preduct Bxe, The rate of interest charged by
facility is 13.76%.

To place an order company has to incur Rs.720 on paper and documentation work. From the above
information find out the followings in relation to raw material Dee:

{a} antity
b} mum Stock level
{c; i Stock level
Caiculare the impact on the profitability of the company by not ordering the EOQ.
{Take 364 days for a
el
yocki ]
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~iethods of Inventory Management 4
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Crash Time -
Normai Time - Days days Cost of Crashing
ner Day
i- 2 9 6 20
i-3 2 5 25
1-4 15 10 30
2- 4 5 3 10
3- 4 10 6 15
4-5 2 1 40
indirect cost per day of the project is Rs.60
iy Draw the Network Diagram
o} Determine the critical path & durstion.
(i} Determine the optimum duration and the resultant cost of the project.

(10)

er of a chain of fast-food restaurants is considering a new computer

“or accounting and Inventory control. A computer company sent the following information
e installation:

| Aciivity Description Immediate Time |
| Predecessor iost Mest Most

j Optimistic | Likely | Pessimistic
A | Select the Computer Model - 4 6 8

B Design input/output System A 5 7 15

L C | Design Monitoring System A 4 8 i2

| I i Assemble computer B 15 20 25

L ware

- B 10 18 26 !
‘ = c 8 9 TN
| G | Creaie data base | E ] 4 8 i2

H | Insia! the system D,F i 2 3

{ | Test and implement G, H 6 7 8

row diagram for this problem, determine the critical path and state the

the project will be completed in 55 days.
0% sure that the system will be instalied by a certain due daie,
yw many days pricr 1o that should it start the work?

the cony
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SUppOose the company agrees to install the computer systerm in 50 days, failing which it would
pay a penalty of Rs 500 per day. What is the probability that a penalty, but not exceeding Rs
2,006, witl be paid?
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¢} Obtain the earliest and the latest scheduling times of the various activities.

B

b8 and machine hours you are reguired to find cut 4)

olfowing data of jo

iy Optumal Job bequenu‘f
2} Total Elapse Time

OR
0.3 (B} Write 2 note on reguivement of scheduling. 4)
045 (AyWiite a note on activities involve in supply chain Management. &)
OR
AL lal wWiete a noie on supply chain strategies. (&)
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¢ of customers approaching the tailor appear to be
ustomers per hour. The tailor attends the customers on first come
stomer wait it the need be. The tailor can atiend the customer at an rate of 10
wuh ihe service time exponentially dlsmbu d.

Find the probability of the number of arrivals (0 through 5) during 30 minutes interval.

OR

v Why Que 1s required? (23
(413 Write a aote on bebaviowr of customer in 2 Queve. 4)
r following {Any 3) {(14)




